JAGUAR
e S o o e e s il

= -,
M.y

i

PRE - WAR

’ < *W 2
& @,m) a

















































PRE-WAR

Standard Swallow 20 hp O.H.V.
Conversion Parts List, 1935. Note the
name of Weslake in the top left-hand
corner.

IKE WEBB, director of
Blacknell Sidecars

‘I helped to fit the first Swallow sidecar
shown at Olympia; year about 1924
‘At that time I was Works Fore-
man at Brough Superior. and Billy
Lyons (as he was then known) was
fitting a Swallow sidecar to one of our
SS80 models. I had fixed the fittings at
the works, but owing to a last minute
change at the Show, it was necessary (o
remove the front taper fitting. Looking
on was Mr F.P. Dickson, himsell a
Brough Superior owner, and well
known at the works.
‘Mr Lyons was in his shirt sleeves,
struggling to unscrew the nut without
much success. when Mr Dickson re-
marked, “I'll bet that’s one Ike
tightened up! I had better see if he will
give you a hand" - which I did, much
to Mr Lyon'’s satisfaction.’
IKE WEBB

This is a curious one. It is clearly a
one-off special-bodied 5.5.1.
Unfortunately the torn-out magazine
page, on which I discovered it, has no
dare or title, Did it come before the
S$590 and, if so, did it provide the
inspiration?

Standard Swallow 20 H.FP.

0.H.V. Conversion.

Part No.

Name .

Material No. off.

WH.1704

fB,1745
WH .1747
WE.1710

-WH.1717
-WH.1718

W .1739-
WH.1738
WH.1742
WH.1744

- WH.1724

WH.1716
WH.1711
WH.1712
WH.1714
WH 1726
WH.1713
WH.1728
WH.1719
WH.17287

WH.1736 -
WH.1737
WH.1729
WH. 1735
WH. 1734
WH.1720

W.H.1746
WH.1730

WH.1731

WH.1774
WH.1708

T .1743

‘WH.1772

WH.1709

¥.H.1721
WH.l722
WH.1723
#H.1748
WH.1749
WH.1740

Standard
Standard
Standard
WH.1732
WH.1733
WH.1741
WH.1740
WH.1754
WH.1753
WH.1752
WH.1751-
WH.1769
WH.1770
WH.1771

WH.1773

Cylinder head.

Cylinder head gasket.
Cylinder head studs. -
Cylinder head nuts (centre row).
Inlet valve.

Exhaust valve.

Valve spring, inner.

Valve spring, outer.

Valve spring collar.

Valve spring bottom guide.
Split cone.

Valve guide.

Rocker No. 1.

Rocker Ko. 2.

Rocker bush.

Rocker shaft.

Rocker bracket Nos. 1 = 5.
Rocker bracket No. 6.
Hocker bracket stud.
Locking screw for rocker shaft.
Plug for rocker oil hole.

Nut for rocker bracket.3"B.S.F.
Plain washer for rocker bkt. §"
Wick for oil hole.

Rocker separating springs.
Rocker end spring.

End washer, rocker shaft.

End plug, rocker shafti.
Rocker cover joint..:~
RHocker cover.

Stud for rocker cover.

Nut for rocker cover.

| Filler cap.

Rocker oil feed banjo union.
Fibre washers.

Union screw for above.

Cu. pipe, 3/1670.D. x 21 S.W.G.
4" B.S.P. union.

i 3/16" nipple.

i4" B.S.F. union nut.

i\ Fibre washers.

Distributor bracket.

1Studs for distributor bracket.
'Nuts, 5/16" B.S.F.
Spring washers, 5/16"
Distributor extensiocn shaft.
Exhaust menifold.

Studs for manifold.

Nuts 3/8" B
Spring washers, 3/aw,
#" B.S.F. x 12" bolts.
Joint, centre flanges.
Joint, Nos. 2 & 5 llanges.”
Joint, Nos. 1 & 6 flanges.:
fater uptake, front.

Water uptake, rear.

Studs for water pptake.

T

o B
dal e

F

Nuts 5/16" B.S.F.

| ¥ashers, 5/16"

Rubber hose for Joint, 13" bore.
Eclips for joint.

tJoint, centre.:-

' Joint, ends. '

{Push rod.

| Ball end.

| Tappet adjusting screw.

| Dynamo bracket.

Dynamo bracket stud.

| Carburetter stud.

i Dynamo lug.

{Ignition wire clamp.
|$Lud.
Nut.
!S;r:ng washers.

| Wwelch washer for ind. pipe.
|Balance for induction pipe.
{011 pipe for rocker feed.

iT-plece for brazing in oil geuge

pipe for oil feed to rockers.

{ 4"B.S.F.x {"set screw.

| Al. Cast.

| 5/16"B.S.F.Cap nut. N.P.
| Al. Cast.

| H.D. Brass.

{ §"0.D. x §* x 1/32"
| M;S. hex. bar.

: §70.D. x §" x 1/32"

| Spring S.

| Spring S.

ly o
| M.5.

| M.S.
| M.S.
| M.S5.

I M.S. 13"

P Al.

6.1.
C.A.

3 Ni.S.

¥ Ni.Steel.
3% Ni.Steel
Valkrom.

o

=
0

ERERaoa

"
™

g

HO BTG oo HoaHpWOHRO DD

M.S. drawn tube.

M.l. Casting.

M.l. Cstg.No.¥H.1713

M.S.

M.S. hex. bar.

Brasrod 1/8" dia. by
1/8" long.

M.S.

M.S.

Lampwick 1/8" dia.

Spring steel wire.

Flat spring steel.

M.S.

[
o
3

Compressed cork.

M.S5.

Bé“ long.

H.D. Erass.
H.D. Brass.
H.D. Brass.

C.l.
M.S5.

M.S.

M.S.
C.l.
M.5.
Brass.

63 6A A - DO o Do

ol vl v
mcatnon

« Asb.
Ju. Asb.
AsD.

« Cast.

A Cast.

o
(]

3" long. .
Jubilee 11"
Vellumoid, 1/32"
Vellumpid, 1/32"
Drawn steel tube.

=
o
-

ng
= 0O i e P DO DO 0D DO 1 DO 4 DO DO 44 DO @ ~3 203 b4 1 DO DO b

Steel .60 carbon.
M.5. Press.

N
M.5.

kelite.

Spring_S.

Copper 3/1670.D. x 1/16";
«D.

Brass to take 3/16" pipe.






PRE-WAR JAGUAR SCRAPBOOK JAGUAR SCRAPBOOK PRE-WAR

OCTORER T6TH, 1936

S JAE

The

brilliant new

W

JAGUAR
and other $§ models

S.S. and Jaguar
advertising was always
bold, colourful,
imaginative and
beautifully presented. It
was ene area in which
Lyons could be persuaded
to spend some money!

The suggestion here seems
to be that the name Jaguar
only applied to one model,
whereas in reality it would
henceforth be applied to the
whole range.

3} LITRE SALOON (TAX £15) £38%

’ —/J I'Il-tf!f(IH{/figll on the open roak s it iS in the show——=——_

Already the 1937 8.5, Jaguar has created a profound impression. The inclusion of 22 importan;
features has added both to its acceptedly outstanding performance and to its exclusive refinement.
No other car within hundreds of pounds of its price can offer such fascinating case of handling

. such safe cornering and roadholding . . . such complete restfulness combined with such
responsive vivacity. And surely no car at anmy price can match its coveted individuality of
design or — what is perhaps the most important — its unparalicled value.

5.5. CARS LTD., HOLBROOK LANE, COVENTRY (TELEPHONE: COVENTRY 8681) i

New features include wider floor area, increasing leg, foot and seating room. Latest S.U. Auto-
matic carburettors, Tecalemit Oil Filter, New Dunlopillo upholstery. No-draught, winding type
falf windows in front doors.  P.roo lamps.  14” brakes with new, improved linkage, specially
designed brake drums, and Ferodo Racing Type Linings. New engine fittings, greatly increasing
silence and smoothness, etc., etc.  Arrange for a trial ran—when you visit Stand 116, Olympia,
or with your local Agenr. Literarure on request.

LONDON SHOWROOMS: HENLYS, DEVONSHIRE HOUSE, PICCADILLY, W.I (GROSVENOR 2287)









PRE-WAR

‘The Silent Fast Car’ sounds
suspiciously close to ‘The Silent Sports
Car' used by a certain other company.

‘Lyons dumped about 40 unsold 1935
S.8.Is on the New York agents in
February 1936, as *'the latest British SS
sports cars”. It probably paid Lyons to
rework the grilles to 1936 standard in
casc  anybody  asked awkward
questions.’

ANON

William Walmsley, the man who
inspired the Swallow sidecar upon
which Jaguar's fortunes were
eventually to be built.

Here we see a 1938 11|2-litre chassis
photographed at the factory.

JAGUAR SCRAPBOOK

BORN OF THIS DAY AND

THE SILENT

AGE










